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65. "Lata and Prameela were able to cross the road". This sentence explains
1) A part action 2) A part ability 3) A possibility 4) An obligation
66. 'Hari and Giri here for ten years. Choose the correct verb form to complete the
sentence.

1) lived 2) areliving 3) have been living 4) live



67. 'Used to' is used for :
1) The past habitual actions 2) The present habitual action
3) The part as well as the present action 4) The present progressive actions

68. In which given alternative the underlined part is pronounced sa-me as that in the word
‘wanted'?

1) ROBBED 2) ROARED 3) MENDED  4) LOVED
69. Thank you alot for this. The sentenceis ?

1) An assertive sentence 2) An interrogative sentence

3) An imperative sentence 4) An affirmative supposition sentence

70. Shall 1 ask you a question? The passive voice of the senteceis
1) A question will be asked you by me
2) Should a question be asked to you by me?
3) Would you be asked a question by me?
4) Will you be asked a question by me?

71. He spent all his money books
1) to 2)in 3) off 4) on

72. Which of the following is awrongly spelt word
1) Tenant 2) Pregnant 3) Permanant  4) Accountant

73.Asl| am how, | want to attend to my duty.
The right word in the above blank is
1) Well 2) Good 3) Fair 4) Nice

74. The dogs which bark, generally don't bite.
The question tag to be added to the above is

1) Aren't they? 2) Do they? 3) Isn'tit? 4) Doesn't it?
75. The programme starts at eight minutes nine.

1) on 2) for 3) to 4) off
76. The Himalayas are mountains.

1) high 2) tall 3) upper 4) artificial



77. 1 would whip them heard for that. The underlined word in the sentence is
1) verb 2) noun 3) adjective 4) determiner

78. Raghava travelled to Macherla foot.
1) on 2) by 3) with 4) in

79. Neelima said, "Nagalakshmi, does your father retire in 2012?"
1) Neelima asked Nagalakshmi if her father retiresin 2012
2) Neelima asked Nagalakshmi whether her father retired in 2012
3) Neelima asked Nagalaksnhmi if her father did retire in 2012
4) Neelimawanted Nagalakshmi to tell her whether her father had retired in 2012 or not

80. It is getting late! Why don't you take a taxi?
By the above expression(s), we meanit's
1) asking a question 2) making a suggestion
3) seeking help 4) refusing help

81. | am playing chess The question tag for the statement is ?
1) aren't I? 2) lsn't it? 3) amn't 1? 4) am |?

82. Lifeisdull still we cling to it. The complex sentence for the aboveis

1) Life being dull, we cling to it 2) Since lifeis dull, we cling to it

3) If itisdull, we will cling to it 4) Though lifeis dull, we cling to it
83. Silent reading in emphasized move at levels of learning.

1) primary 2) elementary 3) middle 4) higher

84. In grammar trand ation method, the importance is given to
1) oral fluency 2) grammar 3) writing 4) narration

85. The arrangement of the words in a sentence is called
1) aSituation 2) a sentence structure 3) vocabulary 4) atechnique

86. 'Narration of the short stories' is an activity for developing skill.
1) speaking 2) Reading 3) Writing 4) Listening



87. Planning should be
1) Teacher centred 2) Learner centred
3) Both teacher and learner centred 4) TLM centred

88. Cognitive growth refers to the
1) Intellectual development of learner 2) Personal development of learner
3) Learner's attitude 4) Learner's ability to perform activities
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